	[image: image1.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Paper – 2010

Class – XII

Subject –Mathematics  

Note: (I) Q.1- 5 carry 1 mark each. Q.6 – 8 carry 4 marks each and Q.9 – 11 carry 6 marks each.

          (II) Take 2min. for 1 mark Q. 5min. for 4 marks Q. 10 min. for 6 marks Q.

                                                                                  ___
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i        -i       , where i = √-1 
1. Evaluate :          i        i

2. A matrix A of order 3×3 has determinant 5. What is the value of  3A  ?
3. For what value of x, the following matrix is singular?


                                                    5 – x     x + 1
                                                     2            4
4. If A is a square matrix of order 3 such that    adjA  = 64 , find    A   .
5. If area of triangle is 35 sq units with vertices (2 , -6), (5, 4) and (k, 4). Then find the value of k.

6. Using properties of determinant , prove that     1 + a      1         1 
                                                                                   1     1 + b      1      = abc(1/a+1/b+1/c)
                                                                                   1        1      1+ c
7. Using properties of the determinant , prove that   

                                                     a              b           c
                                                   a – b       b – c      c – a  = a3 + b3 + c3 – 3abc. 
                                                   b + c       c + a     a + b 
8. If a , b , c are in A. P. , prove that :                x + 1     x + 2    x + a
                                                                            x + 2    x + 3    x + b    = 0
                                                                            x + 3    x + 4    x + c 
9. Using properties, prove that:  sin2A   sinAcosA    cos2A

                                                   sin2B    sinBcosB    cos2B  = -sin(A–B)sin(B–C)sin(C-A). 

                                                   sin2C    sinCcosC    cos2C 
10. If A =   1      1       1

                   1      2     -3   , find A-1 and use it to solve the system of equations:
                   2    -1       3     x + y + 2z = 0, x + 2y – z = 9 , x – 3y + 3z + 14 = 0.

11. Use product      1     -1     2      -2     0      1    to solve the system of equations 
                               0      2     -3       9     2     -3

                               3     -2      4       6     1     -2

      x – y + 2z = 1, 2y – 3z = 1 , 3x – 2y + 4z = 2.
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